EX = a0 K

fili H || & g || K T
4 % 1580 |#63 K B @ K b
4 I 15. 3 |16 R % B b
55 14. 2 [F23 Boa & s &
1 0 0O m 5 4 4 8 19 ex K BZRE B /)N
' 19 N B A # /h
6 B 13. 1 [BE63 OB K BRI /)
6 1 14. 1 |20 E & # 7 A # h
. 4 3 7. 3 |15 H H 5 B/
40m /= R o 7.6 |B63]| B & ®Rr | E &
i 62 FOE K B BRI /)
5% 8. 6 [F13 5O R M A # h
25 BOR FEKRER B/
50m -~ — K/ |5 & 9. 1 |#E63 5 5 T & = F )
6 B 7. 9 |63 s OK M RO/
6 & - HE 53 B W T fit WL/
' 22 H AR Bk 2=
5 0 0 m 4 % |14y 568 4 |HH62 R A = F b
44 |1. 59. 8 |W63| E ¥ AKAET A #E h
S 0 0 m 5% 2. 41. 9 | ¥ ¢ % AET A #E h
6 & |2. 37. 4 |[HE61 o NET -
L 00 0 m 5813 17. 9 |[F21 /oI A Ay = F b
6 213 11. 5 [¥23]| & ) A = F

44 1. 02. 9 |[BE62 = F N F K

4X100mVJL— |54 59. 8 [F19 I S N < - S

6 4 57. 4 |20 A #2 A F R
. . . 145 50.02m [ME56| A B B K| B /b
s ) 4 I 37.34m |[¥ 21 B W Bk A #E h
~ o o |55 4.46m |HH62| H B K B | B /b
£ e BT 5 4 3.92m [¥ 12| JE R FHEE fix B /)N
6 B 1.50m |[BZ63 B OK RO/
e o W51 # W B + | BEH /A
£ 0 m BT 6 4 1.30m [BE55 mE B 7 fit WL/
W22 B Ok EF = FH

CHEODERADEHEL

X RS EEER(AKAVOER) ICEEISNET L, REED/NAZRA
BNELEYET , FREDEESE SFIAEIL,

K FHRESANVEVBELEYBELIY T 51012 BETURKYRTA
HTOIEIFTEEZSLY,

X CHOFLRYICTHALESL,




